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(1) FRIEFEE-FTHMTEELEHEIORBRR (BEHB S LOFBERRENFRE-FIS)

NI ERE LS. HREDSICERE AT -EEHEHICEIE, FERTER(BFRE) L. FEXRICFH,

A B C D (85)A+B
1. REBFOEL 111 (44.9%) 126 (51%) 8 (3.2%) 2 (0.8%) 237 (960 n=247
2. FRATEORIBER 70 (28.3%)| 154 (62.3%) 22 (8.9%) 1.(0.4%)] 224 (90.7%)] n=247
3. BRNAABOREL 63 (21.5%)| 162 (65.9%)| 30 (12.2%) 1.€0.4%)| 215 (87.4%)] n=246
4. EBOHEL 70 (28.3%)| 149 (60.3%)| 25 (10.1%) 3 (1.2%)] 219 (88.7%)] n=247
5. BEBDAIAER 26 (29.9%)| 51 (58.6%) 9 (10.3%) 1 (1.1%)| 77 (88.5%) n=87
6. M AM DER 102 (41.5%)| 112 (45.5%)] 31 (12.6%) 1 (0.4%) 214 (87%)] n=246
Al AGERTER: B:HIBEERIEZFHTEE: C:HFYEMTEGMH>fz DIFERTEGMOL:
(2) NEFLORIOEERE  *FRAIA2E. FR20E LU EOREET S
u EFF4H0OBIORBEIBAFERE n =27457
80 18H£(31.6%) 169(68.4%)
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2. FEEASOMMBRS

(1) BCIEREO-OHOEBORERT (BREHEFH-EIS) 27 (96.4%) n=28
(2) EE-RAEFOVDERIL~DEHAKRR
D BHEEAOIRERE (EBEFERELZTEBEZESH-ES) 22 (78.6%) n=28
2 RAEFOIHFEL~DHEAHRK R
7. AESORELZT-HBEEZESH S 28 (100%) n=28
1. AEFORELOAE (MYHMALEHEBNOHEEEZEESH-TE XEHEE) n=28
RYEAT-RE YBEERELH-HE
a AEDEILECEHURERSICEVYIAEARRER 13 (46.4%)
b SAEBEBHZRZE 13 (46.4%)
c RAENZEZHEL. BEMSHEIC 4 (14.3%)
d AEHEEZREL 10 (35.7%)
e FRAEZELVPTVLSBAEEZELXZTIT X 20 (71.4%)
f ERBIEICRBLEHSEHIAEERE 10 (35.7%)
g REE-I-HAENMESRE 24 (85.7%)
h BEEAELLGSLBVWKSFRICHAETEBZHAE 17 (60.7%)
i AEOEHEZERITS=6. FREXRAECHERERIERE T —42X—RL. EFH 8 (28.6%)
| RAEORERIMOCHAEANRTEFZ. SAEEROMHEIZHLIANIC. HoHLHERICIRT 15 (53.6%)
k SAEXZEONEAEIZ OV TERMSERI-ERHER 8 (28.6%)
| XEFEWICETHIHREILL - DATLLEZFRICES 6 (21.4%)
m #EE. EHHE . FHEELTAL-EHELBATHOBELZFRICESS 6 (21.4%)
n ICTEAICKSEFNIBEHAE 18 (64.3%)
o E-HBFJFLUNISDEED ZRESEFREFRMBEE LR 15 (53.6%)
p F0ifth 3 (10.7%)
(3) NEBAFDOFRARE~DEEARRE CGEHALTWHEEZASEH-ES) 16 (57.1%) n=28
(4) BBIEVATLEADRFTRRE (BRELTWSHBEZRESH-TIE) 8 (100%) n=38
(5) SHEBOEHOKREITKRE (BRELTLWSEBEZESH-TS) 11 (39.3%) n=28
(6) EFRELHBBEDEE -BEOHEDKRETKR (BRELTLWIBBEZEESH-TE) 10 (35.7%) n=28




